Dr. Xing

ECE454/544: Fault-Tolerant Computing & Reliability Engineering
(Fall 2022)

Homework #3 Solution
(50 points)

1. (30 points) Non-separable Cyclic Code:

1) Design a combinatorial circuit that is capable of encoding four-bit information words
into non-separable cyclic code words wusing the generator polynomial
G(X)=1+X+X?*+X>. (20 points)

2) Show the resulting code word for the data word (d3 d2 d1 dO) = (1011). (10 points)
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2. (20 points) Separable Cyclic Code:

Show the separable cyclic code word for the data word (d3 d2 d1 d0) = (1011) using the

generator polynomial G(X)=1+X+X?+X5.
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